Приложение 2

Ответы на задания зачета по иррациональным уравнениям
	
	B1


	B2
	B3
	B4
	B5
	B6
	C1
	C2

	Вариант 1
	3
	0,5
	-6
	2
	-1
	-3,5
	34
	11

	Вариант 2
	-1
	4
	-8
	5
	3
	-3
	4
	15

	Вариант 3
	-7
	1
	5
	1
	6
	1
	37
	2

	Вариант 4
	-3
	-2
	-1
	2
	-1
	5
	13
	8

	Вариант 5
	2
	2
	8
	9
	2
	-2
	43
	16

	Вариант 6
	6
	3
	-7
	-1
	2
	-3
	81
	-2

	Вариант 7
	1
	-2
	-4
	1
	4
	1
	1
	6

	Вариант 8
	-3
	4
	7
	-1
	2
	3
	91
	17

	Вариант 9
	-1
	3
	7
	2
	3
	-2
	37
	2

	Вариант 10
	3
	-2
	-1
	9
	2
	-3
	13
	-2

	Вариант 11
	1
	2
	5
	-1
	2
	1
	1
	8

	Вариант 12
	2
	-2
	-7
	2
	-1
	1
	4
	15

	Вариант 13
	-3
	4
	-4
	1
	4
	3
	81
	11

	Вариант 14
	-7
	1
	-6
	5
	-1
	-3
	91
	17

	Вариант 15
	6
	0,5
	8
	-1
	6
	-3,5
	34
	16

	Вариант 16
	-3
	4
	-8
	1
	2
	5
	43
	6


